2014 12

o L J
Ra 2.0 Ra Lm FORMULA
+ JAN_CD 30423 30422 | 30422AN | 30422R |30922/3/4 |30925c/6c/7C| 30412 30413
ormal ormal 50th 50th RED Ver ormal__[Carbon Edition ormal | DORAGO
PZ001B 500| 4548565202089 o o o o o o o o
PZ002B 500| 4548565202096 =) =} =) =) =) =}
PZ003 4.3mm 400| 4548565197651 =) =) =) =} =) =) =) =}
PZ004C 800 4548565218158 o o o o o o o
PZ005C 400| 4548565202119 =) =} =) =) =) =} =) =)
PZ006B 500| 4548565202126 ) o o o o o o
PZ007 (L) 7075S 2,200 4548565197699 =} =) - - - -
PZ008 (R)7075S( ) 2,200 4548565197705 =} =} - - -
PZ009 1,800 4548565197712 =} o =}
PZ010 1,200 4548565197729 =} =} =}
PZ011 1,200 4548565197736 =} =) =}
PZ012 5mm 800| 4548565197743 o o o o o o o o
PZ013 300| 4548565197750 =) =} =) =} =)
PZ014 500| 4548565197767 =) =} =) =} =) =}
PZ015 7075S 1500| 4548565197774 =} - -
PZ016 4.3mm 500| 4548565197781 o o o o o o o o
PZ017 4500] 4548565197798 =} o =}
PZ018 700| 4548565197804 =} =) =} =) =)
PZ019 6mm 500] 4548565197811 =) =} =) =} =) =}
PZ020 3.2x30mm 300| 4548565197828 =) =} =) =) =) =}
PZ021 2x27mm 300| 4548565197835 o =} =) =} =) =)
PZ022 600| 4548565197842 o o o o o o
PZ023B (R) 1,200 4548565202133 =} =) =} =) =}
PZ024 1500| 4548565197866 =} =) =}
PZ025 300| 4548565197873 =}
PZ026B (L) 1.200| 4548565202140 =} =) =) =) =)
PZ027 600| 4548565197897 =} =) =}
PZ028 0.5mm 300| 4548565197903 =) =} =) =} =) =} =)
PZ029 800| 4548565197910 =} =) =) - -
PZ030 0.5mm 300| 4548565197927 =) =} =) =) =) =) =)
PZ031 300| 4548565197941 =} =) =} - -
PZ032-01 300| 4548565198016 =} =) =} =) =) =)
PZ032-02 200| 4548565198023 =} =) =} =) =) =)
PZ032-03 1.1lmm 200| 4548565198030 =} =) =} =) =) =)
PZ032-04 (0] P-2 200| 4548565198047 =} =) =} =) =) =)
PZ032B 1,800| 4548565202157 =} =) =} =) =} =)
PZ033 2,000 4548565197965 =) =) =} - -
PZ034 300| 4548565197972 =) =} =) =} =) =) =) =)
PZ035 (1/8 /16pcs) 300] 4548565197989 =) =) =) =) =) =} =) =}
PZ036 DB-05H 200| 4548565197996 o o o S o o o o
PZ037 700| 4548565198009 =) =} =) =} - -
PZ038 600| 4548565198054 o o o o - - - o
PZ039B 64-94T 500| 4548565235261 o o o o - - -
PZ040 400| 4548565198078 =) =} =) o =) o
PZ041 No.4-40x1/4 500] 4548565198085 =) =) =) =) =) =}
PZ042 600| 4548565198092 =} =) =}
PZ043 600 4548565198108 =} o =}
PZ044 /E- / 600| 4548565198115 o ) o o o o - -
PZ045 Ra 300| 4548565198122 =} =) =}
PZ101 600| 4548565215737 =) -
PZ101-25 -2.5mm 600 4548565221899 o o
PZ102 500| 4548565215744 =) =}
PZ103 600| 4548565215751 =) =} =) =}
PZ106 500| 4548565215782 =) =}
PZ107 6.8mm 400| 4548565215799 =) =}
PZ108 3x25mm 300| 4548565215805 =) =)
PZ109 4x25mm 400| 4548565215812 =) =}
PZ110 300| 4548565215829 =) =}
PZ111 500] 4548565215836 =) =)
PZ112 70758 R( ) 2,200 4548565215843 - o - - o o
PZ113 70758 L( ) 2,200 4548565215850 - o - - - o o
Pz114 800| 4548565215867 =)
PZ115 2,800 4548565215874 =)
PZ116 900| 4548565215881 =)
PZ117 600| 4548565215898 =)
PZ118 700| 4548565215904 =)
PZ119 () 1200| 4548565215911 =) =}
PZ120 () 1,000| 4548565215928 =) =}
Pz121 2,000 4548565215935 =)
PZ122 300| 4548565215942 - o o o o o
PZ123 400| 4548565215959 =) =}
Pz124 4.3x9mm 300| 4548565215966 =)
PZ125 50mm 300| 4548565215973 =) =}
PZ126B 700] 4548565228195 =) =}
PZ127B ( ) 700| 4548565228201 o o
PZ128 500] 4548565216000 =) =) =)
PZ129 400| 4548565216017 =) =}
PZ130 88T/64P 500| 4548565216024 - - ° - - o o
PZ131 30T/64P 600| 4548565216031 - - ° - - o o
PZ132 (PLAZMA FORMULA) 400| 4548565216048 =) =}
PZ201W 4 7/ ) 600| 4548565226023 - e ° - -
PZ202W 4 7/ ) 600| 4548565226030 - e ° - -
PZ203 1,000| 4548565226047 =) =}
PZ204 600| 4548565226054 o
PZ205 2,500] 4548565226061 o
PZ206 ( FRP/t=15) 700| 4548565226078 o =}
PZ207 800| 4548565226085 =)
PZ208B (1 /Red) 1,000| 4548565266364 =) =}
PZ209 (L) 1.200| 4548565226108 =) =}
PZ210B (R) 1.200| 4548565266371 =) =}
PZ211 (64P/24T) 600| 4548565226122 o S S o o S S
PZz212 (64P/93T) 500| 4548565226139 - - - =) =} - -
PZz213 (15mm/2pcs) 300| 4548565226146 o =}
Pz214 (42mm/2pcs) 300| 4548565226153 o =}
PZz215 400| 4548565226160 =) =}
PZ216 6] 2 7/ ) 200| 4548565226177 o =}
PZz217 L (1.5/2.0/2.5/3.0mm/3-32Inch) 300| 4548565226184 o - o o o o - o
PZ219 380 1,000| 4548565266388 o o
PZ220 (1 /380 ) 150] 4548565266395 o o
PZz221 (1 /AP29 ) 150] 4548565266401 - o




2014 12

o L d
Ra 2.0 Ra Lm FORMULA
+ JAN_CD 30423 30422 | 30422AN | 30422R |30922/3/4 |30925c/6c/7C| 30412 30413
ormal ormal 50th 50th RED Ver ormal__|Carbon Edition| ormal | DORAGO
PZ301 2 400| 4548565293292 o - o o - -
PZ301-6 6 1,000 4548565293308 o - o o - -
PZ302 2 ) 400| 4548565293315 o - o ® - -
PZ302-6 6 ) 1,000| 4548565293322 =) - - - - -
PZ303 800| 4548565293339 =)
PZ304 600| 4548565293346 o - o - - - o e
PZ305 ( /t=2.5mm) 2,000 4548565293353 [e)
PZ306 ( /t=3.0) 1,800| 4548565293360 =)
PZ307 1.300] 4548565293377 =)
PZ308 a) 1500| 4548565293384 o
PZ309 1200 4548565293391 o - - - - -
PZ310 R( /7075) 2,400| 4548565293407 o)
PZ311 L(7075) 2,300| 4548565293414 o)
Pz312 1,000{ 4548565293421 =)
PZ313 600| 4548565293438 o
PZ314 (L/7075) 1400| 4548565293445 o)
PZ315 (R/7075) 1500] 4548565293452 o)
PZ316 1,000 4548565293469 o)
PZ317 300| 4548565293476 =)
PZ318 (W10/L17) 500| 4548565293483 =)
PZ319 (1.0mm/2 ) 800| 4548565293490 =)
PZ320 (t=1.5mm) 800| 4548565293506 =)
Pz321 800| 4548565293513 =)
PZ322 (4.3x8mm/5 _/7075) 700| 4548565293520 o) - - - - - - -
PZ323 ( /t=2.5mm) 5,800] 4548565293537 =)
PZ324 ( /t=2.5mm) 1600| 4548565293544 o)
PZ325 2,000| 4548565293551 =)
PZ326 (2x4ximm/4 ) 400| 4548565293568 o - - - - -
PZz327 M3 (L=15mm/2 ) 800| 4548565293575 =) - - - - -
PZ328 M3 (L=42mm/2 ) 800| 4548565293582 =) - - - - -
PZ329 M3 (L=45mm/1 ) 400| 4548565293599 =)
PZ330 64-92T 500| 4548565293605 o) - - - - - - -
PZ331 300| 4548565293612 =)
PZ332 (0] (2pcs) 200| 4548565293629 =) - -
PZ333 (Plazma Ra 2.0) 500| 4548565293636 =)
PZW001 4500] 4548565198467 - - -
PZW002 (7075/-1.5mm) Ra 1500| 4548565197460 - o o
PZWO003H (0.45mm/ / ) 400| 4548565205431 - - o o - - o
PZW003M (0.45mm/ / ) 400| 4548565205448 - - - o - - -
PZW003S (0.45mm/ / ) 400| 4548565205455 - - - - - - -
PZW004H (0.55mm/ / ) 500| 4548565205462 - - - o - - -
PZW004M (0.50mm/ / ) 500| 4548565205479 - - - o - - -
PZW004S (0.45mm/ / ) 500| 4548565205486 - - - o - - -
PZWO005H ( / ) 400| 4548565205493 - e ° o - -
PZW005M ( / ) 400] 4548565205509 - - o o - -
PZW005S ( / ) 400| 4548565205516 - - o o - -
PZW006H (0.50mm/ / ) 400| 4548565205523 - - - o - - -
PZW006M (0.50mm/ / ) 400| 4548565205530 - - - o - - -
PZW006S (0.50mm/ / ) 400| 4548565205547 - - - o - - -
PZW007 ( /t=2.25mm) 4500| 4548565208296 - - -
PZW008 ( /t=2.25mm) 1,800 4548565208302 - - -
PZW009 900| 4548565208319 - o o
PZW010 7075S (R/ / ) 1,800| 4548565208326 - o o - -
PZW011 7075S L/ ) 1.800| 4548565208333 - o e - -
PZW012H (0.70mm/ ) 500| 4548565216529 - - - o - - -
PZW012M (0.65mm/ ) 500| 4548565216536 - - - o - - -
PZW012S (0.60mm/ ) 500| 4548565216543 - - o o - - o
PZWO013H (1.2mm/ / ) 400| 4548565216550 - - e o - -
PZW013M (1.2mm/ / ) 400| 4548565216567 - - ° - - -
PZW013S (1.2mm/ / ) 400| 4548565216574 - - ° o - -
PZW014 (2pcs)Ra/Lm/ 600| 4548565233168 - - - o - - -
PZW015 ( Ra/Lm/ ) 1,000| 4548565233175 o) - - o - - - o
PZW101 2,000| 4548565221240 - o
PZW103 ( ) 5800| 4548565224814 - o
PZwW103-1 300| 4548565224821 - o
PZW103-2 4.3x9mm 300| 4548565224838 o o
PZW103-3 600| 4548565224845 - o
PZW104 ( ) 1800| 4548565224852 - o
PZW105 ( ) 1800| 4548565224869 - o
PZW106 ( ) 1,200| 4548565224876 - o
PZW107 ( ) 1200| 4548565224883 - o
PZW108 2 7 ) 1,000{ 4548565224890 - o
PZW109 ( Ra/ ) 1,000| 4548565224906 - o o - - - o
PZw112 7075S( ) 2,000| 4548565224913 o -
PZwW113 7075S( -5/ ) 2,200 4548565241323 - o
PZW201 ( Lm ) 4,800| 4548565236985 - o
PZW202 1500] 4548565236992 - o
PZW203 ( Lm ) 1,200 4548565247806 - o
PZw 301 20 2,000| 4548565293643 =) - - -
PZW 301-1 200| 4548565293650 =) - - -
PZW 301-2 400| 4548565293667 [e) - - -
PZW 301-3 (7075) 350| 4548565293674 o) - - -
PZW 301-4 |POM @B /71 ) 200| 4548565293681 o - - -
PZW 302 201 ) 1,200 4548565293698 =) - - -
PZW303 (05mm/2 ) 800| 4548565293704 -
PZW304 (15mm/2 ) 800| 4548565293711 -
PZW305 (2.0mm/2 ) 800| 4548565293728 -
PZW306 (6mm/7075) 400| 4548565293735 - - - - - -
PZW307 (12mm/7075) 450] 4548565293742 - o -
PZW308 (18mm/7075) 500| 4548565293759 -
PZW309 POM @2 /71 7 2.0) 200| 4548565293766 - - e - o - - -
PZW310 (_ /t=1.0mm) 800| 4548565293773 -
PZW311 (W10/L18) 500| 4548565293780 -
PZW312 (W10/L16) 500| 4548565293797 -
PZW313 (W7/L18) 500| 4548565293803 -
PZwW314 (W7/L17) 500| 4548565293810 -
PZW315 ( ) 1,000{ 4548565293827 -




2014 12

o L d
Ra 2.0 Ra Lm FORMULA
+ JAN_CD 30423 30422 | 30422AN | 30422R |30922/3/4 |30925c/6c/7C| 30412 30413
ormal ormal 50th 50th RED Ver ormal__|Carbon Edition| ormal | DORAGO
36104 200] 4548565215720 o - o - o o o o
36105 2.4GHz 250| 4548565198160 o o) o) o o o o o
36106 KRF KS-MP30S BLS 13,000 4548565254194 - - ® - -
36121 1/12 2,000] 4548565205837 - o - o o
36122 64 1/12 2,500| 4548565205844 - - ® - -
36125 1/8 8 ( ) 1,000 4548565205875 - - - o - - -
36571 PF ( ) 9,800| 4548565224807 - o
36572 Lm 6,000] 4548565237005 - o
92414 42mm 600] 4955439679883 o o o - -
92416 50mm 700| 4955439679906 o -
92508 15mm 600| 4955439685129 o o o - -
92638 (10Pcs) 200| 4955439695876 o - - - o o o o
1700BK (s/ )18pcs 180| 4955439793114 - - ° o o o o
1-E015 E (E15/10 ) 150| 4548565140916 o o o o o o o
1-E025 E (E25/10 ) 150| 4548565140930 o o o o o o o
1-N3024 (M3x2.4/10 ) 200] 4548565141012 S o o o
1-N3033N (M3x3.3) 5 ) 200| 4548565142262 =) o =) o o )
1-N4055N (M4x5.5) 5 ) 200| 4548565141067 o) o)
1-S12605H M2.6x5 ( /10 ) 400| 4548565142347 o) o) o) o o o o o
1-S13006H M3x6 ( /10 ) 300| 4548565142354 o o o o o o o o
1-S13008H (M3x8)( /10 ) 300| 4548565142361 o) o) o) o o o o o
1-S13010H M3x10 ( /10 ) 300| 4548565142378 =) o) =) o o o o o
1-S13012H M3x12 ( /10 ) 300| 4548565142385 o o o o o o o
1-S33005H M3x5 ( /10 ) 300| 4548565142484 o o o o o o o
1-S33006H (M3x6)( /10 ) 300| 4548565142491 =) o) =) [e)
1-S33008H M3x8 ( /10 ) 300| 4548565142507 o) o) o) o o o o o
1-S33010H M3x10 ( /10 ) 300| 4548565142538 o) o) [e) =) o)
1-S33012H (M3x12)( /10 ) 300| 4548565246014 o) o) o) o o o
1-S33015H M3x15 ( /10 ) 300| 4548565142583 =) [e)
1-S34006H M4x6 ( /10 ) 400| 4548565142620 [e) =) [e) o) o)
1-S34025H M4x25 ( /5 ) 400| 4548565142743 =) [e)
1-S53003 (M3x3/10 ) 200| 4548565141814 o o o o o o o
1-S53005 (M3x5/10 ) 200| 4548565141838 o o o o o o o
1-S53010 (M3x10/10 ) 200| 4548565141852 o o o o o o o
1-S53014 (M3x14/5 ) 200| 4548565141876 o o o o o o o
965068 (159) 900| 4548565122592 - - - o - - -
BRG002 (5x8x2.5) 4 1,000| 4955439759219 o) [e)
BRG301 1/4 x 3/8 300| 4548565198139 o o o o o o o o
BRG301J 1/4 x 3/8 (1 ) Made in japan 500| 4548565202652 - - - - o - - -
BRG302 1/8 x 5/16 4 1000 4548565198146 o o S o o o
BRG302J 1/8 x 5/16 (2_ ) Made in japan 1,000{ 4548565202669 o - - - ® ®
BRG303 1/4 x 3/8 4 1,000 4548565198153 o o o o o o o o
BRG303J 1/4 x 3/8 (2 ) Made in japan 1,000{ 4548565202676 - ® ® ® ® ® ® ®
Ra Lm FORMULA
+ JAN_CD 30422 | 30422AN | 30422R |30922/3/4 |30925c/6c/7C| 30412 30413
ormal 50ht __|50th RED Ver, ormal__[Carbon Edition ormal | DORAGO
R246-1021 MINI-Z _dNaNo 700| 4548565134304 - - - - o - - -
R246-24124 650| 4548565192175 - - - - - - -
R246-25151 109 480| 4548565192182 - - - - - - - -
R246-3712 64 0 2,000 4548565213238 - -
R246-3713 64 3 2,000 4548565213245 - -
R246-3801 (-4mm/ ) 3,800| 4548565223251 - -
R246-3802 -4.0mm( ) 500| 4548565224920 - -
R246-3803 ( ) 1.800] 4548565224937 o -
R246-3804 ( ) 1,800| 4548565224944 o -
R246-3805 2,200 4548565224951 - - o o - - - o
R246-3806 7075S 2,000] 4548565224968 - - - - o - - -
R246-3807 ( A/ ) 800| 4548565229574 o -
R246-3808 ( B/ ) 800| 4548565229581 o -
R246-6451 |TF 64Pitch 7075/ 51T 600| 4548565187683 - - o -
R246-6452 |TF 64Pitch 7075/ 52T 600| 4548565187690 - - o -
R246-6478 |TF 64Pitch 78T 500| 4548565187706 - - - -
R246-6480 |TF 64Pitch 80T 500| 4548565187713 - - - -
R246-8831S 3CH /SSR 6,500| 4548565238682 - ° - -
R246-8851 |RPM 10000rpm 3,200| 4548565266210 - - e - o - - -
R246-8852 |RPM 15000rpm 3,200] 4548565266227 - - e - o - - -
Body/Decal
Ra 2.0 Ra Lm FORMULA
+ JAN_CD 30423 30422 | 30422AN | 30422R |30922/3/4 |30925c/6c/7C| 30412 30413
ormal ormal 50ht 50th RED Ver ormal__|Carbon Edition| ormal | DORAGO
PZz218 (MAZDA 787B ) 500| 4548565226191 - -
PZB101 T90-FW PLAZMA FORMULA 2,500| 4548565213733 o -
PZB201 962C 5800| 4548565229543 - -
PZB202 962C 3,500| 4548565229550 - -
PZB203 800| 4548565229567 o -
PZB204 TOYOTA TS-020 5,800| 4548565238385 o -
PZB205 TOYOTA TS-020 3,500| 4548565238392 - -
PZB206 MAZDA 787B 5,800| 4548565241347 - -
PZB207 MAZDA 787B 3,500| 4548565241354 o -
PZB208 NISSAN R90CP 6,200| 4548565260294 o -
PZB209 NISSAN R90CP 3,500| 4548565260300 o -
PZB210 962C LM 89 6,200| 4548565262724 o -
PZB211 TOYOTA GT-One TS-020 LM 98 No27 6,200| 4548565262731 o -
PZD201 / ( 962C ) 1200] 4548565245123 o -
PZD202 ( 962C ) 600| 4548565245130 - -
PZD203 (PLAZMA Lm) 400| 4548565245147 - -
PZD204 (TOYOTA TS-020) 700] 4548565245154 - -
PZD205 (TOYOTA TS-020) 700] 4548565245161 - -
PZD206 (MAZDA 787B) 1200] 4548565245178 o -
PZD207 (MAZDA 787B) 800| 4548565245185 o -
612044 1/12 TR-12 (Light Weight/1612-21) 1,700] 4548565220847 - - o -
612048 1/12 PEM-12 (GT12/1613-30) 2,600 4548565255832 - - o -
612051 1/12Strakka-12 (LightWeight/1614-20) 2,000] 4548565265480 - - o -
612034B 1/12 AMR-12 (Light Weight/1611-21) 1,700 4548565223039 - - o -
KF009BK ( /KFO01) 500| 4548565166961 o) o)
KF026 (2pcs/KFO01) 300] 4548565167111 - -




2014 12

Tire/Wheel -
Ra 2.0 Ra FORMULA
+ JAN_CD 30423 30422AN | 30422R [30922/3/4 |30925¢c/6C/7C| 30412 30413
ormal 50ht 50th RED Ver, ormal__[Carbon Edition| ormal | DORAGO
37501 ( /H-38/2 ) 1200] 4548565226214 o o
37502 ( /L-25/2 ) 1,200 4548565226221 o o
PZ104 400| 4548565215768 o o
PZ105 500| 4548565215775 o o
R246-3751 F H-34S 1,800| 4548565193158 - -
R246-3752 F H-38M 1,800| 4548565193165 - -
R246-3753 F L-40M 1,600| 4548565193172 - -
R246-3758  |5x8mm (4 ) 1,000| 4548565193905 - -
R246-3761 R L-24S 1800 4548565193189 - -
R246-3762 R L-28M 1800 4548565193196 - -
R246-3771 L-42 2,000| 4548565215539 - -
R246-3772 D-25 2,000| 4548565215546 - -
R246-3773 (L-42/H-35) 2,000] 4548565215553 - -
R246-3774 L-25 2,000| 4548565215560 - -
R246-8211 ( ) 2,000] 4548565213221 - - - - - - -
ACCESSORIES
Ra 2.0 Ra FORMULA
+ JAN_CD 30423 30422AN | 30422R [30922/3/4 |30925¢/6C/7C| 30412 30413
ormal 50ht 50th RED Ver, ormal__[Carbon Edition| ormal | DORAGO
36102 KRF 1/12 6,000] 4548565199075 - - - - -
36111 KRF 1.5mm 1,000] 4548565198481 - o - o - - -
36112 KRF 2.0mm 1,000 4548565198498 e - - - - - -
36113 KRF 2.5mm 1,000] 4548565198504 - o - o - - -
36114 KRF 3.0mm 1,000] 4548565198511 - o - o - - -
36115 KRF 3/32 1,000 4548565198528 - - - - -
36116 KRF 8mm 1,000| 4548565198535 - o - o - - -
36117 KRF 5.5mm 1,000] 4548565202638 - o - o - - -
36118 KRF 7mm 1,000| 4548565202645 - -
R246-8001 F-300 4,500 4548565173075
R246-8181 |OLFA ( 2 ) 600| 4548565172979
R246-8191 -5~20< 1200| 4548565196401
R246-8192 -5~20< 1200| 4548565196418
R246-8201 i 600| 4548565166657
R246-8901 (3D EP/GP 5mm LED F2 /R2 /T1 3,800| 4548565149049 - -
R246-8902 (3D EP/GP 5mm LED F4 /R4 /T1 4,500{ 4548565149056 - -
R246-8911 F-1 LED(RX )5mm/ / 600| 4548565179336 - -
R246-9001 6mm 8 250| 4548565174898
R246-9003 |ROUTE 246 8 6mm 300| 4548565189403
R246-9021 RC PLANNING R246 300| 4548565176656
Battery
Ra 2.0 Ra FORMULA
+ JAN_CD 30423 30422AN | 30422R [30922/3/4 |30925¢/6C/7C| 30412 30413
ormal 50ht 50th RED Ver, ormal__[Carbon Edition| ormal | DORAGO
ORI14058 LiP07200(100C/3.7V/ / ) 5200| 7612888140582 e - - -
ORI14066 LiP04500(100C/7.4V/ / ) 6,000| 7612888140667 - - - -
ORI14067 LiP03400(100C/7.4V/1S / 4500| 7612888140674 - - - -
ORI14200 LiPo 1600 (7.4V/1S /30C/ ) 2,000] 7612888142005 - - - -
ORI14201 LiPo 3000 (7.4V/1S /30C/ ) 3,000| 7612888142012 - - - -
ORI14202 LiPo 4000 (7.4V/ /30C/ ) 4,200| 7612888142029 - - - -
R246-8451B 2200 7.2V Ni-MH 2,000| 4548565249336 - - - -
R246-8452B 3000 7.2V Ni-MH 2,800| 4548565249343 - - - -
R246-8453B 3600 7.2V Ni-MH 3,400| 4548565249350 - - - -
R246-8461B Li-PO 7.4V-2200mAh 2,200| 4548565254132 e - - -
R246-8462B Li-PO 7.4V-3000mAh 2,900| 4548565249367 e - - -
R246-8463B Li-PO 7.4V-4000mAh 3,700| 4548565249374 o - o -
R246-8536  |2P- B
Ra 2.0 Ra FORMULA
+ JAN_CD 30423 30422AN | 30422R [30922/3/4 |30925¢c/6C/7C| 30412 30413
ormal 50ht 50th RED Ver, ormal__[Carbon Edition| ormal | DORAGO
R246-8404 [C-04 Li-PO DC 1-4 0.1-4.5A 3,200| 4548565186914 o o o - - -
R246-8542 XH 2 Cell 200| 4548565148912 - - - - - -
Motor/ESC
Ra 2.0 Ra FORMULA
+ JAN_CD 30423 30422AN | 30422R [30922/3/4 |30925¢c/6C/7C| 30412 30413
ormal 50ht 50th RED Ver, ormal__[Carbon Edition| ormal | DORAGO
37001 13.5T 7,600| 4548565225705 - o - o - - -
37002 17.5T 7,600| 4548565225712 - o - o - - -
37003 215T 7,600| 4548565225729 o 1 o 1 e 1 - e 3 e 3
70701 540 G G20 1.800] 4548565150496 =) o)
ORI28254 VORTEX VST2 PRO 3.5T ( 12,000| 7612888282541 o - - -
ORI28255 VORTEX VST2 PRO 4.0T ( 12,000| 7612888282558 o - - -
ORI28284 VORTEX VST2X PRO 135T (JP) 12,000 7612888282848 - - - - - - - -
ORI28285 VORTEX VST2X PRO 17.5T (JP) 12,000 7612888282855 - - - - - - - -
ORI28286 VORTEX VST2X PRO 21.5T (JP) 12,000 7612888282862 - - - - - - - -
ORI65120 VORTEX R10 STOCK (ZERO/2-3S) 12,000 7612888651200 - - - - - - - -
ORI65128 VORTEX R10.1 ESC(170A/2S) 23000| 7612888651286 - - - - - - - -
R246-25775 500| 4548565194766 - - o - - - - -
R246-8580 100mm 500] 4548565248971 - - - - - - - -
R246-8581 150mm 500| 4548565237012 - - o - - - - -
R246-8582 170mm 500] 4548565237029 - - - - - - - -
R246-8583 190mm 500] 4548565237036 - - - - - - - -
R246-8584 210mm 500] 4548565237043 e - - - - - - -
R246-8809BK|EA-050 ( ) 12,000 4548565251599 - - - - - - - -

2 KYOSHO TROPHY 2014




